
EXERC ISE - 9 (B) Date 
Paga 

Eilin the blanks 

On dividing 9 by I, quotient and nemainder 

On dividing 18 by 6, quotient 3_and emaindex 

divise ) FactoY ot a number is an exact ctuisPoof the 
numbeyY 

ivEveny Dumber is a tactor of itself 

Eveu number is a multiple' o itself. 

VO0e is fEactor ot every number 

Vi ox ewe number, its factors are inite and its 
mu lhi ple's are iotinite 

iX is a taetor _af yHheny is a multlple of X. 

Niteall the factors ot 

16 ,24, 8,16 

2- ,3,A,2L 

9 L313,339 

N481,2,3,4,6, 8,13, 16, 24, y8 



Data 

Pags 

V6 LA4,8, 1,16,, 48 

vi 81,37,194,98 

3hte the Arst six mulhi ples of 5 

XA & 
yy 16 

5 x4 20 

a. 9 9 
X 18 

3x9 
X9 3 
5 x9. s 5 
GX 5 

xt 
, 

3x I 33 

SXI 55 
6X112 66 

15 IX 15 15 
2XS 30 
3X 15 YS 
x15 60 
5 1S 75 
6X 15 90 



rata 

X 18 2 18 

2 X X 18 36 
3 x 18 5 
X18 12 
X 18 0 
GXI8 = l08 

18 

16 
X 16 2 3 

3x 16 z 48 

Yx 16 6 
5X 6 30 
6X 16 96 

it 

The Product of two numbers 's 36 and their Sum 

is 13 Find the numblers 

36 2 x 3 6 
A18 
3 12 

6 6 

Sum of two_ numberSs13 

Theretue the nuimbeis aT and 

The Product of 2 numbens is 8 and their Sum ts l6 

Hnd the numbers 
48 LX 18 

3 x I6 
CX 12 

X 8 

The Sum of numberS IS l6 
heve toe dhe nAmbens a1e 

and 12. ietnowcoi-man 



6Wte_hwo numbers whidh ci tHes 3 ond 

pro duct is S4 

541x 5 

6x 

DiHterence betwOen 6 and is 3 
Theye tie the nLmbursare 6 and 9. 

Without making any Actual division sho that 700 
is diisible by 7 

27x(lo00+1)
Tx l00 00 

4007 i divisible hy t 

Withoui makinR_any achualdision_ shoD that 
23.000 22 isdisible by 23 

23 00000 +23 
23 x 100000 +I1) 

23 Ibo00 

2300023 is divisi ble by 23 
9 Without making Gny ahial divisionsho fhal Qach of tht blowing numbers is divisiale 

11011 l1000 IL 
1Lxlo00 +) 

noll is divicible by 1. 



0000-t 
1x(O000+1) 
X1O00 

IDol is diuisible by 

1oO0000 tI 
X(l0o0ooO +1) 
2 1 x 000 00L 

1100 o o is_divi'sle by L 

without actual divisibn shoo that each of the ollouping numbes is divisible by 8 
16 08 

16 Dot8_ 

3x20 
1608 s divisiale by 8 

S6 0o 8 
560008 
8 (oo0 +1) 

S600 is divisible by &_ 

- 4 0008 
240000 +8 

X30000 +11 
x_30001 

0008is didtile by 8 -
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